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(2a%) 1 Three heams, hinged logether at their ends, are supported and loaded as shown

[elowe. etermine the reactions al suppors AL Coamd T

] & Q:fﬂﬂgm

(25%) 2. Determine the horizontal and vertical components of force that the pins at A, B,

and C cxert on their connecling members.

(25%) 3. For the device shown, the disk is rotating at a constant angular speedd wy.
Finel the anpular velocity and angular acecleralion of bar A5,
Given: For twa points, a and b, fixed ju a rigid body, the relationships

af velocities and aceelerations belween LUhese bwo points are, respectively:
Ve =V, +-.‘:r11| :":ﬁ:n'.l
—~ —te = - — —
ap = g + Wat ¥ Pup + Wab X fﬁ:b ¥ Pab)

— ' a nmalle, '__" -
where pop is the poslion vector from a to b; way and oy are, respectively,

thie angular veloeity and angolar aceeleration of the rigid body.

(25%) 4. A foree Foacts oo block A which vides on idlentical unifornn cylinders B
and €7, cach having o radivs 2. Block A has mass Zm. Cylinders 8 and
(7 have the same mass m. Asswmne that there is no slipping. (a) What
is the speed of A afler it moves a distance d7 (L) Find the [riction [orce

betweon cylinder B and the gronnd.
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